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Chapter 5

Part 1 of 1 - 5.0/ 18.0 Points
 

Question 1 of 20 0.0/ 1.0 Points

The disadvantage of an analog signal is that it is susceptible to interference . 
  

 
Answer Key: transmission flaws

Question 2 of 20 0.0/ 1.0 Points

Digital signals are represented by  positive voltage and  zero voltage. 
  

Answer Key: 1, 0

Question 3 of 20 0.0/ 1.0 Points

Analog signals are characterized by four properties namely; amplitude, wavelenght , frequency and phase. 
  

Answer Key: frequency, wavelength

Question 4 of 20 0.5/ 1.0 Points

  Modem is a device that converts analog signals into digital and vice versa. 
  

Answer Key: Modem, digital signals

Question 5 of 20 0.0/ 1.0 Points

What do we call carrier frequency modified by application of data signal? modulation . 
  

 
 
Answer Key: Frequency modulation

Question 6 of 20 0.0/ 1.0 Points

What do we call digital signals that are carried on a single channel?  . 
  

 
 
Answer Key: Baseband transmission

Question 7 of 20 0.0/ 1.0 Points

   combines many channel signals and is required at the transmitting end of the channel. 
  

 
 
 
Answer Key: Multiplexer

Question 8 of 20 0.5/ 1.0 Points

In statistical multiplexing, a transmitter assigns slots to hosts according to priority and need. 
  

 
 
 
Answer Key: nodes, priority

Question 9 of 20 0.0/ 1.0 Points

  ATM is used on most modern fiber-optic networks and has an extraordinary capacity. 
  

Hint: Use full name not acronym. 
  

 
 
Answer Key: Dense Wavelength Division Multiplexing

Question 10 of 20 0.0/ 1.0 Points

Wavelength Division Multiplexing (WDM) carries  light signals  . 
  

 
Answer Key: multiple, simultaneously
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Question 11 of 20 1.0/ 1.0 Points

In baseband transmission, digital signals are carried on a single channel. 
  

 A. True

 B. False
 
 
Answer Key: True

Question 12 of 20 1.0/ 1.0 Points

In broadband transmission, multiple transmissions use varying medium. 
  

 A. True

 B. False
 
 
Answer Key: False

Question 13 of 20 0.0/ 0.0 Points

In twisted-Pair Cable, every two wires are twisted together. 
 

 A. True

 B. False
 
 
Answer Key: True

Question 14 of 20 0.0/ 1.0 Points

The following are advantages of STP and UTP :- 
  

1. They can transmit the same rates 
 2. They are more noise resistant 

 
 A. True

 B. False
 
 
Answer Key: False

Question 15 of 20 0.0/ 0.0 Points

The following are facts about rollover cables; 
  

1. Some wires are reversed 
 2. Terminations are a mirror image of each other 

 3. They are used to connect a computer to the console port of a router 
  

 
 

 A. True

 B. False
 
 
Answer Key: False

Question 16 of 20 0.0/ 1.0 Points

The following is true for rollover cable 

 A. Terminations are a reverse image of each other 
 

 B. Used to connect a computer to the console port of a router 
 

 C. Transmit and receive wires on one end reversed 
 

 D. They are also called yost cables or Cisco console cables
 
 
Answer Key: B

Question 17 of 20 0.0/ 1.0 Points

The benefit(s) of Fiber-Optic Cable are / is:-

 A. high to medium throughput 
 

 B. Very high noise resistance 
 

 C. Requires special equipment to splice 
 

 D. All of the above
 
 
Answer Key: B

Question 18 of 20 1.0/ 1.0 Points

Cross-talk refers to 
 

 A. Signal on one wire infringes on adjacent wire signal 
 

B Alien cross talk occurs between two cables
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 B. Alien cross-talk occurs between two cables 
 

 C. Near end cross-talk occurs near source 
 

 D. All of the above
 
 
Answer Key: D

Question 19 of 20 0.0/ 1.0 Points

Transmission Flaws are;-

 A. There is a delay between signal transmission and receipt 
 

 B. Time it takes for packet to go from sender to receiver, then back from receiver to sender 
 

 C. Dirty connectors 

 D. All of the above
 
 
Answer Key: D

Question 20 of 20 1.0/ 1.0 Points

The following are troubleshooting tools

 A. Tone locator, Probe kit and Multimeter

 B. Cable continuity testers, Fiber optic tester 
 and Multimeter

 C. Cable continuity testers, Fiber optic continuity tester 
 , Multimeter, Tone locator, Probe kit

 D. A and B
 
 
Answer Key: C
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